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6 OstwaldFarben (o)

XYZ,=98.07,100.0, 118.22 1004 By Parameter:
Y & Name
L Lichtart C00
a,=ay[(x-x )/ﬂ Y=10Q Y,=50
bz byolz/y

von maximalem (m)C,g im

Lichtart C00, Y,,=100 Y, =50
Name Bereich X, v z, x“ 2
R, 5677757969 6969 58.25 03819 0334 596 487 N
Vi 492775 88.31 97.06 62,69 0.3550 03912 571 463

G2, 474575 61.18 823 69.67 0.267 0.386 529 529

C,’ 380567 67.55 B0.45 118.250.2537 0.3021 487 596

B, 380_49258.94 5308 1148202598 0.234 463 571
M2,575_474 86.07 67.84 107.84 0.3288 0.2592 5290529

W, 380775 98,07 100.0 118.220.31 03161 100%

N, 380_77549.03 500 59.11 031 03161 50%

Z, 380_77517.65 180 2128 031 03161 18%
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